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1. Answer all questions,

2. All questions carry equal marks.

3. Only one answer is to be given for each guestion.

4. if weve than one answers are marked, it would be treated as wrong answer.

5. Fach queston has four aternative responses marked serially as 1, 2, 3. 4. You have to darken only ore
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cirele or bubble indicating the correct answer on the Answer Shest using BLUE BALL POINT PEN.

1/2 pari of the mark{s} of each question wiil be deducted for ench wrong answer. (A wrong answer

means an incorrect answer or more than sne answers for any question. Leaving all the relevant circles or

bubbles of any gquestion blank will not be considered as wrong answar.)

The candidate should ensure that Series Code of the Question Paper Beoklet and Answer Sheat must be

same aiter opening the envelopes. Ih case they are different, a candicate must obtain another Cuestion

Paper of the same senes. Cardidaie himself stiall be ragponsible for ensuring this.

Mobile Phohe or any other electronic gadget in the examination hall is siiicliy prebibited A cancidate found

with any of such objectionable material with hirndher will be striclly dealt as per rules,

Please correctly fill your Roll Number in OMIR. Sheet. 5 marks will pe daducted for filling wrong or

incomplete Roli Number.

Warning : | a candidate is tound copying or if any ursuthorised matetial is found in hisfher possession,
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under Section 3 of the R.P.E. (Frevention of Unfaihmeans) Act, 1¢32. Commission may also dabar
himser permanently from all future examinations of the Commission.
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How many orbitals will be present in the 3 shell

(1 3 - 2) 5
(3) o @ 9
Ty wmw § free wem suiud B9 %7
(1 3 : @) 5
(3) 6 ' o @ 9

1
Element having quantum number n = 4 and $= ~ will possess following
number of electrons :
(1) 16" 2) 8
G) 2 . 4 12

o I e
FATH T n = 4 qUT s=— EEw a& B e ¥ saeeE T

ST _
(1) 16 @) 38

G 2 4 12

Element with atomic number 57 belongs to :

(1) s - block (2) p - block
3) d - block - (4) nobel group
T W 57 91 9 gebud ¥ o

() s - «Aid (2) p-=A®
3) d - =it® @) ofem
Which element will form cation most easily ?

(1) Ne ' (2) Mg

(3) Sr {4y Li

HEl T TS ST SAEN &

(1) Ne 3 (2) Mg

3y Sr | 4) Li

Number of unpaired electrons present in chromium (At. No. 24) atom is :

(1 3 (2 4

(3) 6 o 4y 3 .

BITA (1. G. 24) TeAY F g sdagil @) Real den suied B ?
(1) 5 (2) 4 ' '
3y 6 ° . - 4) 3

OP25 Al o - TR - (Contd..



6 The interpretation of 3 unpaired electrons in electronic configuration of
Nitrogen atom is based on :

(1) Auf bau principle (2) Pauli's rule

(3) Hund's rute (4) (o+]) rule

TELS UAN] ¥ 3 orgRua gRdil & WY ST H1 geagih sitWee
(1) ofe—af fgme (2) URH ¥ FEE W

(G) T ¥ Fam w 4 () o W
7 Highest lattice energy will be of :
(1) Li (2) LiCl
(3) LiF : (4) NaF .
waffes e Sl el :
(1) ~Lil (2) LiCl

(3) LiF (4) NaF

8 Lowest radius will be of :

(1) Mg (2) AP

{3) Na (4) Na*

G LN E T B "

(1) Mg* 2) AP

(3} Na : (4) Nat

9 The general outer configuration of most electronegative element is :

- (1} ns? np? | 2) n? npt

(3) ns? np’ 4) ns? np®

vaifues fogarlt da &1 amg aem G e -

(1) ns®np® - (2) n? npt

(3) ns? np? _— (4) ns? np® o m e e

10 The constituents of stainless steel are : .
(I) Cu + Sn + Fe (Z) Fe + Cu + Zn

(3) Fe + Cr + Ni (4) Fe + Co + Ni
CTog B & oEHa T o

(1) Cu + Sn + Fe (2) Fe + Cu + Zn
(3) Fe + Cr + Ni | (4) Fe + Co + Ni

OP25_Al -3 [MERTEG - (Coned...



11 Which of the following properties is retated with sequence - F > Cl > Br > |

(1) Electron affinity (2) Electronegativity
(3) Atomic radius (4) Boiling point
ot A ¥ Frn T 39 %9 § defuq 7 F > Cl > Br > I
(1) oA 9y (2) oo
() ww B (4) wguEis
12 The compounds of alkaline earth metals have the following magnetic nature :
(1) Diamagnetic (2) Paramagnetic
(3) ' Ferromagnetic ~ (4) Aatiferromagnetic

wﬁawa@m%ﬁrﬁmﬁﬁamaﬁmu@%mﬁ% ?
(1) " whrgasa (2) srg=EY
(3) degm®E - (4)  wieliegraee

13 In radioactive decay which one of the following moves the fastest ?

(1) o - particle | (2) B - particle

(3) v - rays (4) Pdsitr(‘)n

e &g A aa’tf%ﬁs FﬁT;l‘cﬂ RICLIEEE N

(1) o - &I : (2) B -=m

By ¥ -@W (@) el

14 Which of the following elements is the end product of natural radioactive

- series 7

(1) Pb- '_ (2) Sn

G € (4) Bi |

R B R R e e
(1) Pb (2) Sn

3 C ' (4) Bi

15 Half'life for first 6rder reaction is 1000 seconds. Its velocity constant will be :
(1) 693 x1073 sec! (2) 6935 x10~+ sec!
(3) 0.693 sec”! 4y 693 sec”!
uﬁwwmwﬁaﬁmwaﬁww 1000@%%3“{31%51%
- Rerdie 2
(1) 6.93 x10-3 Gpos| _(2) 6.93 %10~ gepoe-!
()  0.693 Fapve-! 4y 693 v
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16

17

18

19

20

Asbestos constains o
(1) K and Mg _ . (2) Ca and Mg

(3) Zn and Mg “ (4) Na and Ca
TgEE ¥ ¥ | N '
(1) Ko Mg (2) Ca ¥ Mg
(3) Zn T Mg | | (4) Na T Ca

For artificial transmutation of nuclei the most effective one is :

(1) Proton (2) Deutron

{3) Helium nuclei ' (4) Neutron
s ¥ PBE ziw SwRers & Wy 998 wwEr ¥
(1) weE (2) =ge=

G) Afrw @) IR

Which of the following does not take place by o - decay ?

(1) 5°U— 53*Th (2) o3’ Th— 32°Ra
226- . 222 213: 23p.
(3)  3°Ra— $2°Rn (4) 27°Bi— 3,°Po

fr & ¥ @ o - ST % HI IE B @ &?
(1) ;}ggu'—>§34Th @) 2Th- 2%Ra

222 203 L 213
(3) §§6Ra->86Rn @ 2PBi— IPPo

Hybridisation preSent in CIF; molecule is :

(1) dsp® (2) sp’d
(3) dsp? : (4) spid?
CIF; &9 # H&vo ¥ -

(1) d2sp? (2) sp’d
(3) dsp? @ spid?

Bond angle present in H,S is :

(1) 104°31 @) 107048
(3) 91030 (4)  109028'
H,S % s & ¥ ¢ |

(1) 104931’ @) 107048’
(3) 91030 (4) 109°28'

OP25 A] 5 AN
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21 Shape of SF, molecule is :
(1) Trigonal bipyramid
(2) Distorted tetrahedral
(3) Square planar
(4) Square pyramid
SF, o] & ol ¥
(1) Peeig fa¥feg
(2) Topa agehadE
(3) TR TTER
(4) ansr frafrs

22  The crystal structure of NaCl is :

- (1) Rhombohedral (2) Cubic .
(3) Monoclinic _ (4) Triclinic
NaCl & fpeeq dxomn %

(1) Pwrfa @ wE
() TEHTEE | @) e

23  The molecule having bond order 3 is ;

1 H @ N,
3) 0O, (4) He,*
3] Rt &y ww 3 %

(hy H, - 2) N,
3y O ' (4) He,™

24 Which of the following ionic radius would be maximum ?
(1) C* | (2) N3 .
3) o* ' (4) Mg
M A § Tres amhe Bow sfiew ¥ 2
(1) Cc*+ (2) N*
3) O | @) Mg

OPRAL e ¢ RN R
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23

26

27

28

The atomic number of an element is 22. The highest oxidation state shown
by it will be : '

1 1 2y 2

3y 3 ' 4y 4

W d B U] GET 22 ¥ 3Ed g N TE STEaH STl
eI ¥ |

1y 1 | | (2) 2

3) 3 - (4) 4

Oxidation number of Mn in MnO, is :

(1) 2 (2) 1
(3) 2 - @) 4
MnO, ¥ Mn W% SAEHHET G@& §

(1) 2 @

Gy -2 @ 4

Which element is reducing in the following reaction ?
TiCl, (1) +2Mg(s)—2— Ti(s)+ 2MgCl, (s)

(1) T (2) Mg
(3) ClI - ' (4) Mg and Cl
et wifefirer & fow a & wmEmR R W R 7

TiCl, (1) + 2Mg(s) —2— Ti(s) + 2MgCl, (s)

(1) Ti | (2) Mg
(3) cCl _ 4 MgaCl

' The oxidation number of sulphur in Na,S,0; is :

(1) 40 2) -40
® 25 @ 20
Nags4og% s @ Rl We ¥

(1) 40 2) —4.0
Gy 25 @) 20

OP25. Al T NIy (Contd.



29 Which of the following is Lewis base ?

(1) Cof - {2) - BF
(33 AlCH “4y Hn
F7 F ¥ @RE 8T

(1) o™l (2} BF,
(3)  AICI, : (4) H,0

30 Which of the following solutions will be basic ©

(i) HOU " (2)  NaOC!
(3)  Ne,SC, (4) NH,NO,
Rom ¥ o wiEe Frees wrda wm 7

(iy 110CI (@) NaOCl
(1) Na,S0; (#)  NF,NO,

3t Atomic numbers 13, 31, 49 represent the tollowing familv

{ty Carbon (2) Boron

{3y Oxvgen : {4} Halogen
W] w13, 31, 49 The wiere @ weier &7
(4 aE () anm

() @i () TEwE

32 Which ot the following pairs wili show dm;..aonttmm !
P
[

{1y Na. Na’ {2y Cut ot
{3} Ca - ' 4y Cr, '3
ﬁrrﬁaﬁﬂmummw IR ir‘

1) Na, Na* : (2) Cu*, Cu'?
(33 Ca, Cat? 4y Cr. cg--b
33 'i'--iigi‘;esf ionisation potential will be shown by species

(Mo ”? _ {2)  ™Mn¥
(33 Mt (4)  Mn't
foes wra guiue svo Rrva o smom 7
(1) Mu*2 @) My
Gy Ma™ (43 Mnt®

LAY o 8 IR [Contd...



34

35

36

37

In which of the following compounds chromium shows maximum radius °

() K,(rhO, (2) CrO,Ch,
(3} Cry(SOy); (4) CrlCl,
o § ¥ @Fa O § witan veg ouly Bem oewia ¥ ¢
(1) KyCry0, - (2) CrO,ClhL
(3)  Cry(80,) 4y CiCly
Newtral uxide is ,

(1) 5n0, (2) €0 .
3y Zn0O (4 Si0,
e SEE % o

(1) SnO, .o {2y CO

(3) ZnO : 4 S0,
Chemical formula of 'Borax' 1s :

(1y WNa

,1 B,0, (011}, |-8H,0

(2) Na,|B,0,(0OH), |-2H,0

(3) Na,|B,05(OH), |-$H,0

(4) Ne,|B;0,(OH), |- 2H,0

TG B HNTE GH b

(0 NaE"BgOJr(OH}_E}SHEO

(2) Na,|B,05(OH), | 2H,0

(3)  Na,[B,0,(OH), | $H,0

(4) - Na,|B;0,(OH), |- 2H,0

3
|

When an alletrope of carbon is heated in an electric arc in the presence
of Argon, i produces :

(1Y Crown ether 2y Grapnite

(3) Fullerene’ ' (4) Diamond

Aty W it § fage b SR BT B OSOTEd @ I 6 R ST
EI R

(1) @wisT su7 ' ) TEEe
(3) wEA 4y B

OP23_A] o THEmRE (Coned..



38 Froth floatation process is related with following form of ore :

(1) Oxide (2) Sulphide
(3) Chloride (4) Carbonate
o e Ry B ¥ ¥ Rew weR % omes 4 wwfuw ¥ 7
(1) oS | @ uwwEe
ORI @ PR

39 Heaviest metal is : _
(1) Tungsten ' (2) Osmium

3) Gold (4 Lowrencium
(1) <M . . ' (2) @reRm
(3) @ - ' (4) W

40 The heating in-hot air to oxidise sulphur from pyrites, is called :

- (1) Calcination (2) . Oxidation

(3) Roasting (4) Smelting
Wﬁ@rw%mma@mmnﬁmam T W BET E
FOBE G o 2) lefeBReT

(G) W @) W

41 Strongest metallic bond is present in :

(1) Fe _ (2) Cr
(3) Mn | 4) Sec
. wafttes sfrasmel ofes 9 oufted & ¢
(1) Fe @ Cr
(3) Mn _ | 4) Sc

42 Cyanide process is used for the extraction of :

(1) Ag _ (2) Au
(3) Cu (4) Zn
wrgrgs fafyr @ S e ufiteewr & fWe g ¥ 7
(1) Ag . (2 Au
(3) Cu (4) Zn

I0P25—A1 | " TR - 1Contd...



43

44

43

46

Common co-ordination number of Cu™ jon may -be :
M 1,2 Q) 4, 6

G) 2. 4 4) 6,2

Cut & 99 gF<=g-g@n '

(n 1,2 2) 4,6

3) 2,4 4) 6, 2

In [CO(NH3)4 C12:|C1, the charge on cobalt is :

(1y +2 (2) +3
(3)  +1 ) +4

[co(nmiy),c1, Jo1 & wrawe w omas % -
1y +2 @

() +i # +

Diethylenetriamine ligand is :

(1) Monodentate (2) Pentadentate
(3) Bidenta:[e (4) Tridentate
SEUAREITZREAN . Wi ¥ oo

(1) THeaE (2) U

3y feEdr 4) P

Which of the following acts as ambidentate ligand :
(1) CN- (2) pyridine

(3) acetylacetonate ~ (4) CNS~
Pt § W e sweed d@es ¥ 7

(1) CN @) R
(3) uRfmEERe @ onsT

P A I I
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' ' : 2+
47 Effective Atomic Number of metal in complex [Mn (H20)6] is :

(1) 33 @ 35
(3) 36 o (4) 38

SEa [MH(H20)6]2+ A g A e v

(1) 33 () 35
3) 36 @ 3%

48  The compound K[COC] 4 (NH3 )2] has the following name :

(1) Potassium diamminotetrachlorocobaltate (1)
(2) Potassium diamminetetrachlorocoboltate (IIT)
(3) Potassium diamminetetrachlorocobalt (IIT)

(4) Potassium diamminetetrachlorocobalt (II)
ki K[C0c14(NH3)2] i I

(1) uRRrw seueiFRgEIRl sawee (1)
(2) . URREH agquﬂﬂ%quﬁ FEwe (L)
(3) IR sETEiEEIERRl M (1)
(4) RREM TRTERZEE e (1)

49 The ligand EDTA in [Mg(EDTA)]" " chelate is :

(1) Pentadentate (2) Tetradentate
(3) Hexadentate (4) Bidentate

 [Meg(EDTA)] e A dirivs EDTA ¥ -
) - e @ g
(3) w=EAE @) TaEdm

orsAl 12 ||II|I|I|||I"HIHIIII]IHIII [Contd...
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n
—

52

Which of the following statements is correct for XeF, molecule ?

(1) sp®d? square planar, two lone pairs, four unpaired electrons

(2) spid, trigonal bipyramid, two fone pairs, four unpaired electrons
(3) d%sp”, octahedlal six unpaired electrons, no lone pair

(4) sp’d?, square pyramlda three lone pairs, two unpaired electrones

XcF, o] % frg fre § @ @En wud w7

(1) spid?, amier wqdw, @ IHEM g, I g gwage
@) sp’d, T ffrrdd, & @Rl qm, ww omfee e
(3)  dlspt, URGEEE, B eghud AL, BE g T

(@) spd>, e freida, 9 goaE gm, @ ogina gdw

For diborane which of the following is correct ?
(1) sp hybridisation, lincar stmdture

(2) sp? hybridisation, banana bonds

(3) sp* hybridisation, banara bonds

4) lsp hybridisation, banana bonds

wgdT F g Pea W ¥ ww ¥

(1) sp ¥HIOT, TWE G

(2)  sp? WHT, TAA FY

(3) sp® "HIVI, AT Y

(4) - sp HHLI, A T

The second most abundant element on the earth's crust is :

(1Y  Aluminium (2) Copper

(3) Silica _ (4) Carbon

UL @ UT UX Ul W 9l gu}l |aifye wen g ad & 7

(1) wepdfem - (2) @i

(3) TaRwe (4) A

Which of the tollowing shows sandwich st_rudture ?
(1} Fullerene : {(2) Crown ether
(3) Ferrocene (4) Porphyrin

Hefqg gy = o ¥ @9 g9 £ 7

(1) WpafE (2) WRT 3R
(3) WHyEH _ 4y HET

OF2. Al B R (Conta-



54 For Al{OH), = AI*’+30H", the solubility(s) will be :

3 /K

' K N P
(1) sp | ) 7
l | « %
- K |4 S 72
) [2_?] - W [108]

AI(OH), = AI*> +30H" % frg frdvan () 20h ©

QY Ksp ' 2) N

55 What is the solubility of AgCl in a solution of 0.1M NaCl ?

[K =1.1x10“0]
sp

(1) 0.1'M 2) 11x 106M
@) 11x10°M (4) 1.1 % 10710 M
0.1M NaCl famus & AgCl &1 T = s/t ?

() 01 M 2) 1.1 x 106 M
G) L1 x10°M (). 1.1 x 10710 M

56 If AgNO; is added to an aqueous solution containing 0.01M each of CI~, Br~
~ and I~ ions; the correct sequence of precipitation is :

(1) Br, CI, F (2) I, C-, Br

HE) I~ Br, C- @4) Br, I, CI-
s T s FEEE 0.0IM CI, Br @ I~ 9TEe (@i® %) &, § AgNO,
framen st ¥ @ er@ger @ Wl wm e - '

(1) Br, CI, I ) T, CI, Br

(3). I, Br, CI @ Br, I, CIF

01_’25-{*1- ‘ | 14 MR (Contd...



57 Maximum conductivity would .be of :

(1) K;Fe{CN),[0.1M solution]
(2)  K,Ni(CN},[0.1M solution]
(3) FeSO,-Al (SO, ) -24H,0[0.1M solution]

4) N'a[zﬂkg(SzO2 )3 ][O 1M solution |

SATYUHIT AR BN
(1) K,Fe(CN) [0.1M faem]

(@) K,Ni (CN) . [d’ M e |

©(3) FeSO,-Al,(SO, ), -24H,0[0.1M fre]

) Na[Ag(SZOE)J[O.lM%{m?]

58  Which of the following is suitable indicator for pH titration of weak acid
~ and weak base ? o

(1) Methyl Orange (2) Phenopﬁthalein

(3) Phenol Red .(4) Methyl Red .
gaW o 9 g9 &R % W pH g ¥g SUgE YIe e ¥ g
(1) e et (2) ReTeeres |

(3) Mw = (4)  Thusw 1=

59 13A1’4O,19K40’20Cﬂ4o is a group of :

(1) Isotopes (2) Isobars

(3) Isotones (4) Isodiapheres
18870 1K™ 90Ca® w wr ¥

(1) aIEERNE O 2) omEEE™
() omEERE , T4 IAEEEEE

OP25 Al 15 VN tcentd...
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61

OP25 AL 16 EMTEIRN  1Coned.-.

Jn galvanisation, iron surface is coated with

(1) Tin (2) Chromium
(3} Zinc () Nickel
T ¥ @ a9 ox el feE Wwn ¥
(1) B (2) Wit

(3) e 4) Trew

Which of the foilowing bonds is largest ?

(1) C-F @) c-€l
(3) CBr @
Rreg & & wEd us Ty ¥

() C-F | ' (2) C-Cl

(3) C-Br ' (4) C-I

Which of the following is least reactive ?

NG H
(I L=0 (2) C=0
H” O
CHy | CH_
N (4) ¢=0
H (3113/
g F % waw e feold ¥ o
(1) /(,J = ' (2) =0
H 1o~
CHan ch{\
(3) C=0 (4) C=0
w (3}13/
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64

65

65

Which of the following is most acidic 7
(1) CH,COOH 2y CH,CICOOH

(3) CHCI,COOH (4) CCl,COOH
P ¥ W geq ey eTg ® :

(1) CH,COOH (2) CH,CICOOH
(3) CHCI,COOH (4) CClL,COOH

Which of the following bonds will have lowest hond encrgy ?

) C=N (2) C=N

3 C-N 4 =C-H

fer A waR ww @ G ReEa ¥ 7

(Y (=N (2) C=N
| # =C-H

(3) C-N

Repulsion will be highest. for :

(1) b.p. — b.p. (2) Ip. -bp

3y /p —-Ip (4y [lp. — free radical
s G crore g o R R i ]

{1y op - bp 2) lp - bp

3y Ip. - 1Ilp. (4) Ilp. - 9H .1151"6\‘3

Number of resonating structure will be lowest i :

(1) CH,-CH=CH-CH; @) CH;=Cl = (- CHy
| Hy
() CHy - == Cll (4) CH,-CH=CH,

Tl CHy
P N wag @y orwRl wXaTel B oww gF

() CHy~CH=CH-CH, (2) CH,-CH= (] -CHy
CTy
3) COHy - % = (I‘ — CIy (4) CH;-CH=CH,

CHy Clg

OF23 Al 7 TN 1cond...



67 The reason for relative stability of ‘the following sequence of alkyl free
radical is : o

tert. alkyl > sec. alkyl > pri. alkyl > methyl

(1) | Resonance

(2) Mesomeric effect

(3) Hyperconjugation -

(4) Inductive effect _

ufihel gad e B U Wi &g = wW & fg erm ¥ o
s oiwe > fifwms ofea > wulbe oiea > At |

(1) srgae
2) AEmieE TaE

(3) et "@gmw
@) TF NS

68 Which of the following is a nucleophile ?

(1) ZnCl, 2) AlCl,
) R-N*=N (4) R-MgX
P § ¥ e ¥

(1) ZnCl, (2)  AICI,
(Y R-N*=N @) R-MgX

69  C,H.Br-+OH”— C,H.OH+Br". The above reaction is :

(1)  Electrophilic substitution
(2) Electrophilic addition
(3) Nucleophilic substitution

(4) Free radical substitution

C,H;Br+OH® — C,H,0H+B:" | saa aifrfipar & -
(1) . s v

(2) TR ANTHS

(3) “iTeEEEr yfRenes

(4) Hw e W

OP25 Al 13 [Ny tComed...



70

(1) VR (2) drTED
(G) gt @) e
71 TUPAC name of CHp — CFi— CH — CHz— CHj
CHs — CH — CHs
(1) 2-methyl-3-ethyl pentane
(2)  3-methyl-2-ethyl pentane
(3) 3-ethyl-2-methyl pentane
{4) -ethyl -3-methyl pentane :
CHz — CHs— CH — CHz— CHgz @1 IUPAC H % :
CHy -~ Cll{ — CHjy
() 2-Afae-3-afre T
(2) 3-fw-2-uiw T
(3) 3-ufyw-2afyw T=e
(4) 2-ufw-3-af IS
72 Heptane exhibits the following no. of isomers :
(L 7 2 5
G) 6 4 9
T % Fra g B9 ¥
1 7 | 2y s
(3) 6 ' 4y 9
OP25 Al e KHUARIIGNNY - Teontd...

. NH-OH

@ @ reaction is ;

(1) Substitution reaction 2)
(3) Rearrangement reaction 4)
_ NH-OH

@m%

Addition reaction
Displacement reaction



73 2R —X+2Na —R—R +2NaX reaction is known as

(1) Clemmenson - (2) Wolf - Kishner
(3) Wurtz {4) Kolbe
2R —X+2Na — R —R +2NaX @¥eal SIHT Stidl & -
(1) T (@) T9w feYR
G) g o (4) dre

74  Which halogen rteacts with alkane rapidly with 'explosion ?
1 L | (2) Br,
) F, @4 <L
QEhT % WY BINEl SWSH faepe % oy oitwlear wiar ¥ 7
1) L @ B,
(3) F, @& O,

75  If n-butane is heated in the presence of AlBry / HBr, the product will be : -

{1) Benzene - (2) n - octane
(3) Dibromobutane - "~ (4) Isobutane
af n=ET B AlBry / HBr & @19 7 %Y @ @R e
(1) o= (2) n < SRS
(3) SEEEREEA (4) ATSHERT
76 (CHs - CHz~ CH = CHe +HOCl ——> A
A s
(1) CHs - CHz— <I3H -¢H2 (2 CHs-CHa- CI}H — (I:H2
Cl OH : OH (I
(3) CH;s - CH - (IJH ~CHs - (4 CHj-~ ?H - (IzH — CHs
OH Cl Cl OH
CHz — CHs— CH = CHs +HOCl —— A
A% .
() CHy—CHz-CH-CHy (2 CHj- CHy-CH-CH,
Cl  OH - OH &1
(3) CHs— (IJH - (I‘,H — CHj (4) CHg - (IJH - (IjH - CHs
OH Cl | Cl OH

OPS AL 2 LA - [Contd...



78

79

orzs 4| | 2 RN (Concd-

Ni{CN)

- 2 A e
65° /200Atm.P Cyclooctatetraene ; A is !
(1) Ethene (2) Butadiene
(3) Acetylene ' (4) Butyne
Ni(CN), - ;
3 ; A .
65° 200AmpP T IR
(1) T\ (2) wHTEEEH
(3) wErEEE ‘_ (@) e
CHCL, +HNO; —~A A is :
(1) Chloral (2) Trichloroketone
(3) Phosgene (4) Chloropicrine
CHCl,+HNO, — A, A% :
(1) @i (2) TR B
(3) WA 4) wTARIMNYBN

OH

_ +CCl, +4KOH — A+ 4KCl+2H,0, A is -

(1) Benzoic acid : (2) Cinnamic acid-
(3) Salicyldehyde - (4)' Salicylic acid
OH

+CCl, +4KOH — A+4KCl+2H,0, A ¥ :

(1) éﬁf@m o ' (2) Tt sr<t |
() IR (4) hfaters o



80 Pyrane is used as ;

(1) Antiseptic (2) Fire extinguisher
(3) Explosive (4). Cooling agent
IR ITEr ¥ 59 WeR 9
(1) IR (2) et
(3) fuempres R @) Sfawe
81 CH3—CH=CH2 > A B ; Final product will be :
H,0, .
(1) Acid _' () Alcohol
(3) Aldehyde (4) Ketone
B,H
CH,—CH=CH,—26 AWM .5 sfm Sam 2w :
- : H,0,
(1) ord | (2) uwhE

(B3) UEEEE , 4) W

82 Cause of solubility and high b.p. of an alcohol in water is
(1) van der Waals' force
(2) Inter molecular hydrogen bonding
(3) Intramolecular hydrogen bonding
(4) Dissociation of molecules

GEHEAl & I Faudis U9 W@ § Ied RU@gar &1 &R ¥ o
(1) 4am=Y — a8 9w ' |
2) SAHUF TEEEA IY
(3) SUSE TESOH §Y
(4) sgall w RESE |

83 In Victor Meyer's test, tertiary alcohol will produce the following colour :

()  Red =~ = ¢ (2) Blue

(3) Yellow (4) Colourless

faeret T wlew ¥, giee e fe o1 sae @ -
(1) @) A

(3) e ‘ | 4) Trém |
omsa 2 MR - (Cone.



84 Oxiranes are

(1) Cyclic acids (2) Cyclic aldehydes
(3) Cyclic ketones (4) Cyclic ethers
CiEsire: i | | o
() e eRd - (2) W TEERE
() G HER @ mEE R
85 'R—ICII—-CI'+ HQM.R—(&—H+ HCI reaction is known as :
O ' 0
(1) = Perkin's |

(2) Knoevenagel's
(3) Rosenmund’s

(4) _Cope - knovenagel's

/ .
R~ﬁ—Cl+H2mR—ﬁ—H+H01.aﬁﬂ%Wﬁﬁmﬁr% :

O . 0
(1) b |
(2) A
(3) st
(4) B - Ao

86 Urotropene can be obtained by the reaction between the following reactants :
‘ .(1) Acetone + hydroxylamine
(2) Formaldehyde + ammonia
(3) Acetaldehyde + hydroxylamine
(4) Benzaldehyde + am_moﬁia _
R & @ R el % Wem sfuhRw @Q e @vm ?
(1) whEHA + TEghRd T
(2) WHEEES -+ I
(3) uHRfeEms + wEgfREw THA
@) Aetedteres + omifET

0P2s 4] - IR (Conta-.



87 CGH:-S -—C.HO+CH3—CHO »A, A Iis :
: (1} PB- diketone ' {2) Trioxane
£

(3} Cinnamaldehyde (4) Crotonaldehyde

CyHs—CHO +CH, ~CHO—¥ 4 A % .

() pB- sEIRM ' (2) TSR
3) TrieREs (4) WEAEEES
Zn/H . L o
8&  A-+[H]- EICIg +R~CH, '“TR\'T‘HZO, A will be :
(1) Acid (2) Pri. alcohol
(3) Aldehyde ' (4) Ketone
Cfyl_ Zn/Hp
A+ [H}—=2ESR—CH, ~R+H,0, A % :
(1) o (2) wufhE UwsE
(3) uRRERE (4) wveN

89  Acrolein can not be obtained by the following reaction :
(1) Giycerof + KHSO4
{(2)  Allyl aleohol + MnO,
(3) Propene + O, + Cu,O . ALO; / 35°C
() Ketone + Mg + H;*O
Pt & 3 ﬁwaﬁﬁwmwﬁﬁqwﬁﬁﬁmmm 7
(H %‘rﬁw—r + KHSO,
(2) qae wEmER -+ MnO,
() W + 0, + Cu,0 . ALO; / 35°C
(4) WEF + Mg + Hy*O

96  Crotonic acid can be produced by :
{1} Oxidation of aldehyde (2) Oxidation of ketone
(3) Condensation of aldehyde (4) 'Reduction of ketone

WIEIE o/ WO 3 gdal §
() TEEES & JEdET & (2) 9O F e §
(3) URRES ¥ W Y (4 WS ¥ oy A

OP25_Al o - IR 1Comd...
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92

93

94

OP25_A] N (T

Acid which is present in Red ant is :

(1) Crotonic (2) Acetic
{ )) Formic (4) Valeric
GIC &Y § ouRaw opw ¥
(1) wahm ) ufgtes
3)  HIfE @ EEIEE?

If a cyanide is hydrolyses. the product wili be :

{1) Ketone (2) Schiff's base
(3) Acad (4) - Ester
ofy TEAES W WA ST Rl R A IWE T
(1) @ 2) Am ar

. (3) & (4) TEX

CH2 —0OH is known as :
|

COOH
(1) Giycol (2) Glyoxalic acid
(3) Glycolic acid ' (4) Glycine

CH,—OH <1 Sl 3
}

COCH
(1) THIZHA : (2) wsa%‘f%mm

(3) EER® e @) TeEdE

Reformatsky reaction is useful to produce :

(1) o -halogen ester _(2) B -hydroxy acid
(3) o -halogen acid | (4) B-hfdroxy ester.
?{tﬁmza% afiipar P & S ¥ oSwEm ¥

1) odEeE TEx @ poEsEER e

(3) o @ e . (4) Bmse?ﬁ%?r TRY

[Coatd...



95  Mallic acid + HI — Product which is :
(1) Formyl acetic acid (2) Tartaric acid
(3) Succinic acid (4) Fumaric acid
Afv® o +HI— ; S9@ g ;o
(1) wita ofefes o ) e o
3) uhfE e @) wRm e

96  CH,CONH, +Br, + KOH — P+ 2KBr +K,CO, +2H,0, P is -

(1) Acid " (2) Ester
(3) Amine . (4) Cyanide

CH3CONH2 +Br, +KOH — P +2KBr+K,CO, + 2H,0, P % :

() o | @ =
(3) wiF - - (4) UEEE

97 The reaction between ester and water catalysed by base is known as

(1) Reduction (2) Hydrolysis

(3) Saponification -~ (4) Inversion

TET T T A i s @ suRaf ¥ S0 o aendr 3
(1) ST (2) wW-amHeT

@) wgfw @) wdw

98  The intermediate which produces by nitrating mixture during nitration is

- called :

(1) Nitrate ion - {2) Nitrite ion

(3) Nitroniuim ion (4) Nitrosonium jon _

TN & T TR Pl g/ s Auradt weedr ¥

() &R o (2) RS o

(3) “EgEH S - (4) -EHERET emEe
(OPZS AL 6 [P (Contd...



99  Azobenzene may be producéd during 'follow'ing type of reduction of
nitrobenzene in the presence of :

109

(1) Acidic medmum

(3) Neutral medium -

TEESIT & SIadT § TS

BN AT F
(1) or<™
(3) ST

Picric acid is

CO0H

(1) O2N NOy

<oy

NOg,

OH

(3) 0N @ NO2

NO»

<oy

fuferer or %

COOH
(1) OgN

@

NO3»

OH

(3) OsN NO2

<oy

NOo

OP25_A]

NOo

27

(2) Basic medium

(4) H, gas

(2) @™
4y H, ¥¥ = Ryk

NH,

(2) OazN NO2

<

NO»s

OCHs

4) OQN@/NOQ ,

NQO»

(2)

(4)

SRR

aﬁmﬁmﬁﬁ\—rﬁmmmﬁw

[Contd...



101 Which of the following amino compound will show maximum basicity ?

NHp - | - NH -
- _ : NH;,
M @ |
NH; NH; -

G) @NHQ 4)

et 3 % e T A wfn e agte § 7

NHo

NH, -~ | NH; -

| B N,
(D (2)
NH, | 'NHQ
® [Olm )
NH,

102 CH3 —NH2 +A+3KOH — CH3N ZC+3KCl +3H20, A s -
©) cHCy - (4) CH,CL,
C_H3 —NH2 +A+3KOH—r CH3N;C+3KC1+3H20, A % :
(1) cal _ _ (2) CH,

(3) CHCI, 4) CH,Cl,

oesaAl 28 [IVINAIHD  (Cored...



Cl
Cu2 2

+ —
103 CHNICIm ——222-CHCI+N,

above reaction is known as :

(1) . Balz Schiemann's (2) Gattermann's
(3) Sandmeyer's (4) Mannich
cHNFOm —22 Lo ool N, aftrfear weaEr ¥ -
651502 HCl 615 2 _ T
(1) e - W (2 TR
() [veAE (4) uh
' (1) CsHsN .
104 CH3CHO+H2C“(COOC2H5)Z—W‘_: crotonic acid
above reaction is known as :
(1) Perkin's (2) Knoevenagel's
(3) Schmidt (4) Wittig
' ' (1) CsHgN
CH3CH0+H2C‘(COOC2H5)2W el o
(1) uféa (2) e
(3) Rme | 4y fafem

105 If malonic ester reacts with urea, the product will be :

(1) Urotropene (2) Mecetylene

(3) Barbituric acid ' (4) Cyclopentanoic acid

o AR Tee Ta g ¥ v afiRen @ @ s Ao
(1) g (2) e

(3) aidegRa® GFTrT (4) EREAN=EEE T

OP25 Al o o - [ERMELHNIT - tConed...



106 If sodium salt of A.AE. is heated with I, and hydrolysed with acid, product

will be :
(1) Valeric acid (2) . Adipic acid
(3) Succinic acid @ Glutaric acid.

uﬁq@ﬂ@ﬁww%@%mwaﬁlzﬁﬁmaﬁaﬂ%ﬁwm
W gl HE ¥ A SEE BN

(1) T o @ R ew
- (3) dfwbre ond 4y T o
107 Diketene can be synthesiséd from :
(1) Acetaldehyde (2) Acetic acid
(3) Acetoacetic ester (4) Acetone
SREST H TR Rl W WHAT T -
(1) wdiedeEs (2) ufhiem o
(3) wERifes gey @) wERE
108 If RMgX reacts with- CO,, it produces :
(1) Acetone ! - {2) Ester
(3) Aldehyde . (4) Acid
aﬁmgxﬁraﬁ:@ﬁmcozﬁé‘ﬁﬁ%ﬁraﬁm
(1) wErRH ; @) TEr
(3) uEEs GRS
- Controlled I
109 . ? - -
CH; Mgl + CW CH, CHO+Mg \NH,
 Reactant will be : _
(1) Ethyl acetate (2) Ethylene oxide
(3) HCN | (4) CI-NH,
ESIES -1
CH3MgI +? —— CH3- CHO + Mg
Regferat _ ‘“‘-NH;
arﬁmw RSl
(1) Ui wdee (2) wuEEN JiTEEs
(3) HCN ‘ (4) CI-NH,

orsal 30 VAN (Conta..



110 Chlorophyll pigment has the following metal :

(1) Cu : (2) Fe
G) Mg @ Li
FANEA (o o Fr oarg e ¥

(1) . Cu - .(2) " Fe
3) Mg (@) Li

111 Acetyl acetone will show :

(1) Stereo isomerism - (2) Optical isomerism
(3) Tautomerism . {4) 'Metamerism
ufafew wdlem g -

(1) Bfm aemerREa (2) WeRTIER HHTEEET
(3) - EEETE C (@) TeTEEEd |

112 Which of the following does not have chiral centre ?

(1) 3 - Methyl hexane (2) 2 - Chlorobutane
(3) 1 - Chloro butane (4) 2 - Butanol

Prer % & Poed Pt dm v

(1) 3 - e YRw (2) 2 - FRIEE
(3) - FTWREET (@) 2 - =AW

113 Which of the following fact is correct for meso-tartaric acid ?
(1) - Two chiral centres, optically active: |
(2) One chiral centre, optically active
(3) Two chiral centres, optically inactive

(4)  One chiral centre, optically inactive
ﬁﬁri’f@raﬁﬂwamﬁr@r—aﬁfﬁm%%ﬁa@r%?
(1) @ fre ¥m, vty afe |

(2) UE e =, wemilde afiea

() @ TR =, TR e

4) s fw ww, veliem sbea

OP25 Al i AW - 1Contd...



HQ H
114
H OH
COOH
molecule has following nemeuclature of R and S system :
(' 2R 3R | 2y 25, 38
(3} 2R, 38 ‘ (4) 28, 3R
COOH |
HO ol
oo & R g S TRy H TwERer g0
H OH
COOH |
(1) 2R, 3R (2) 28, 38
(3) 2R, 38 4) 28, 3R
Br\ ",J
15 C=C molecule has following momenclature
a” N |
! H
() E form - (2) Z form
(3) R form () S form
Br\ /l
Cc=C : HT AF —
, o F @A B
Ci H _ :
() E w&r () 7 9HT
(3) R UHR (4) S UHX

116 Which of the following is not correct for fumaric acid ?

(1y Cis - form : ' (2) Geometric isomer of maleic acid
{3} Dibasic acid {4) Trans form

vl v % feg o wn oWl T R O7

(1) fy - wec ) s ovw W Suly wuEEd
(3y  faarfm ewdw (4) T YBR

OP2EAL - 32 NI  (Coned...



H H
17
H H

H

The above structure of staggered ethane is known as :
{1} Newmann projection formula (2) Sawhorse formula

(3) Tischer formula (4) Flying wedge formula
H
H H
H H
H
A 3 B Sa GO AR T ¥
(1) A9 v g (2) dE™ g
Gy MR owE (4 wET AW g
18 Starch is
(1) Trisaccharide - (2) Disaccharide
{3) Polysaccharide (4) Oligosacchande
() s | T S
(3) TaERIES (4 oTawsS
119 Which of the following is a ketohexose 7
(1) Glucose (2) Fructose
(3) Osazone ' (4) Starch
e o ¥ Wi deeed ¥ 7
(1) e (2) WERE
(3) ofEmE - | 4 =
120 If cane sugar is heated above its melting point it gives :
{1) Molasses (2) Lactose
(3) Ribose_ (4) Calamel :
AT -9 B TER TG ¥ SIC W fRw W @ W enm
() A (2) =™
(3) wEEE | 4) dema

orsAl 3 NI (Conto..
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122

123

124

The bond present between the glucosé units of cellulose is :
(1) "o - Glycocidic ) B - Glycocidic
(3) ® - Glycocidic (4) 7y - Glycocdic
IRl H TEEE JoRA ¥ A SURd T deORn ¥
(1) o - EHTERS 2) p - wEsRlEs
(3) © - EHTESE @) vy - TERIRE®
o - Amylose and B - Amylose / Amylopectine are part of the following
carbohydrate : '
(1) Sucrose (2) Cellulose
(3) Starch : (4) Maltose .
o - UAEAE ddl p - CHEER/OAEwe e feense ® W ¥
) wEEE @) W
(3) . @) TeE
[D] Glucose —feagils-—:[D] - Mannose |
above reaction is known as E
(1) Conversion _ (2) Inversion
(3) Epimerisation - (4) Mutarotation
[D]rerg T [p)-Aw ; Sw sfiee wEewRl ¥ -
(1) wiEds _ (2) waEE - |
(3) geTiETT - 4y uiediger P
CH3 - CHO
CrO5Cly .

+[0] — > reaction is known as
(1) Wurtz's (2) Etard's
(3) Clemmensen's ' (4) Friedel Crafts'

CH3 CHO . |

. CrOaClp N | '

+[O]——2~i—-> @ sifafpr ST SR ¥
1 g 2) @ |
(3) (4) EE-HH

OP25 Al s o [UAEROTR rComed.



: A ’ _
125 2@—I+Cu——> A+Cul, , A will be :

(1) Benzene (2) Cyclohexane
(3) Biphenyl (4) Naphthalene
2@—_I+Cu-——A—> A+Cul, , A
(1) S| (2) wERIER
(3) wSHHT (4)  TEIE
COOAg Br

. CCl '
126 @ + BF2 *-7—6-%—) @ +AQBFJ¢+ COQT ’

above reaction is known as:

(1) Rasching ' (2) Friedel Crafts'
(3) Hunsdiecker's method (4) Sandmeyer's
COOAg Br
CCl .
+Br2._.%.;%_> @+Agar¢+coz1.,ag@1ﬁqﬁb_q1aﬁw&'f%-
(1) =i (2) Wis® - wHE
(3) Twdmy fafy (4) WUEHER

127 Which of the following is not corrct for BHC ?
(I) It acts as insecticide
(2) It has 10 stereoisomers

(3) Its y isomer has asaeee configuration

(4) It is known as lindane

BHC & fog = & & & & =& ¥ ¢
(1) T% @Iy ¥

2) zEd 10 Prfremerd o #

(3) 3IUF y WAEAT ®H aaseee TUGE BT ¥
(4) 3 TS F W ¥ ft W ¥

OP25 Al 3. W (Contd...



128 Which of the following is an enzyme protein 7

(1) Albumine (2) Insuline

(3) Trypsin (4) Myosin
e ¥ § B TeRH RN 27

(1) aefe @ wghm
3) fefew - @ wEfE

129 Proteins give following colour with Ninhydrin test.

(1) Yellow

(2) Orange
(3) Blue

-(4) Purple '

 Presie ¥ W e whan # e R ¥
(ty e (2) e
@) e @)

130 In saponification of oils which of the following can not be produced ?

(1) Glycerols (2) Alcohols
(3) CEsters (4) Aldehydes
I % wdeRw ¥ e & @ wE@ ¥ P
() feeie | (2) e

() T - @) ueEE

131 Solidification of oils can be done by |,

(1) Oxidation : (2) Saponification”
(3) Hydrogenation 4) Hydrolysis

A @1 FW AT WY e § e AN
(1) T (2) WA )
(3) wEgEE @ W e

oms Al 36 RN (Contd..



132 The cause of the denaturing of oils due to air and moisture which produces
bad smell is :

(1) Hardening of oil

(2) Ranadity by oxidation
(3) Saturation by hydrogen
(4) Solidification by reduction

éﬁﬁwagqaaﬁrmﬁwéﬁﬂwgﬂwaﬁm% DT
BRI ¥ -

(1) d@f @ SR T

(2) EEE ga s g
(3) IESET FR YD T
(4) FTTEH B B BT

133 Sodium salt of dodecyl benzene sulphonic acid is known as :

(1) Soap _ {2) DPaste

(3) Shampoo - (4) Detergent

SitERw IS FERITE o I WIdW waw W Wi o
(1) wgs () =

3) &g @) StE

- 134 U. V. Spectroscopy is based upon
(1) Transition of electron

(2) Vibration of electron

(3) Spin of electron

(4) Rotation of electron

U V. WeEtendt enuifig ¥
(1) SO & EHEA W
) T % eET W
}) wRE F g w
(4) §AHRE B PR W

0P25 4] o A 1Conca..




135 Which of the following sequence is correct energetically ?

(1) 6-c*>p-a*>noa*>n—o0o*
(2 n—c*>non* ST =G0
B) o-ooc*>nocf>unoan*o>n->n*
4 #non*>u-or*>p—>c¥>0-30*
Pt ¥ ¥ A w9 o ¥ W T 7

(1) o—=c*>ag—-a*>p->a*>n—>0*
(2) n—-)cs.* >n—an*>n—anmto>c—>o¥
3) o->oc*>n-oc¥*s>ronton—orn®

4 n-on*>ron*>n->cto>o0->0*

136 In bathochromic shift :

(1) A, value decreases

(2)  Aay value increases

(3) - Energy increases
(4) Frequency increases .

ToeRs g H
(1) Ay W TR

() A WF g1 %

3) oo wed
(4) gt T 3

137 In dilute solution of alcohols O-H stretching vibrations will be present

in the region :
(1) 3650-3550 cm!
(2) 1420 - 1330 cm™!
(3) 2800 - 3000 cm!
{(4) 1260 - 1000 cm!
Qﬁé\’aﬁq%ﬁa@ﬁmﬁ'ﬁ OHWWﬁmaﬁﬁaﬂﬁaﬁ#ﬁ
(1) 3650-3550 cm~
(2) 1420 - 1330 cm!
(3) 2800 - 3000 cmy!

. (4) 1260 - 1000 cm™

OF25_Al B (WIHAY - (Coned...



138 The characteristic peak for C = O stretching vibrations will be present in
the region : '

(1) 1315 - 1280 cm! (2) 1440 - 1395 cm!
(3) 1720 - 1706 cm™! 4) 1620 - 1590 cm™!
C=09H &9 & waw Y = &3 ¥ 78 I

(1) 1315 - 1280 cm™! (2) 1440 - 1395 cm™!
(3) 1720 - 1706 cm! (4) 1620 - 1590 em!

139 N. M. R. spectroscopy is related with :

(1Y Spin of electron (2) Rotaton of electron
(3) Spin of proton | (4) Spiﬁ of nucleon

N M R aegend waf ¥ |

(1) IOFRE & B9 d (2) sWARR & TW A
(3) WER & Tmu " (4) lema b gme ¥

146 In 'H NMR sp'ectroscopy the following compound is used as reference

(1) DMF 2y CCl
3y TMS (4) Benzene

'H NMR @it o Bt difes g 3g swariy & -
(1) DMF - (2) CCl

(3) TMS ) I

141 How many peaks will be observed in NMR spectra of CH,—CHBr, and

s 9%
Br. Br
My 3,1 @ 2.1
(G) 3, 4 @ 2, 2
CHy ?Hz _ :
CHy-CHBry = | = L 7 % NMR F way R ol
W B ? _
(1 3,1 2 2,1

(3) 3,4 4y 2,2

OP25 Al ¥ IR (Conta..



142 Which of the following is not used as an explosive ?

(1) Trinitrotoluene ‘ | (2) Trinitrobenzene

(3) Picric acid " (4) Nitrobenzene

frr & ¥ froer s wo Redes & w0 ¥ T Rew W ?
(1) wRTEgRET (2) SRR

G) ffes sea (@) YA

143 Which of the following is Boyle's law ?

My res @ VeT
3) _Poc{; o " @4) PV«RT
Prg & @ <faw @ Pw

) ,-xé; @ verT
3) Pocé . (4) PVeRT

144 Which of the following is correct sequence ?

(1) & Crop >C_ @ Cons > Cop >C
() Cus”C>Cppy @) Cpp>CT>C
Pt ¥ ¥ w W Y 2 |

1 CT>Cp>Crs @ Cons>Co >C
3y C,>C> Cop o _ @ Cpp> C>C

oP2s Al . 4 IR 1coned...



145 Correct van der Waals' equation for real gas is :

() PV=nRT ) [P+*$5J(V—b):RT
() [p+f‘$;J(V—nb)=nRT__ @ (Pmnb)[\z‘}?—jJ:an
arafie g H fog wf qet aww wlis ¥

(1) PV=nRT C Q) [P+-\—?—2'](V-b)=RT

) ' ' o
an ; o 2
(3) {“*\;ﬁ‘](‘-‘“b)-“m @ (P—nb){"*?_z}-““

146 Critical temperature of a gas is :

a

(ny T, = 7RG () T =3b -
(3) T =8f27Rb | @) T, =ab/P.
T o wiaw o9 ¥
1) T, = @ T, =3

- 27Rb ©
(3) T.=8a/27TRb (4) T =ab/P

147 In law of corresponding states [“+..&..J[3¢"1]=89, Als :

1y na?/v? @ b

'}

(G) 3/¢° (4) ¢%/3.
e sreen % faw [TC'*..{%.}[3¢*1]=39- ¥ A S

(1} naz/‘\’2 (@) b

(B) 3/¢? | ERONE S

orsAL a4 [IIHRN R 1Contd...
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149

150

For an ideal gas which of the following is not corect ?

Sy €, =dH/dT ) C,=dE/dT

(3) Cp=C,+R (@) C,=dT /dP

o omst v P R ¥ dmew @ ¥ 7

i

(1) C,=dH/dT ) C,=dE /dT

v

3y Cp=C,+R | (4) Cp. dT / dP

The science which deals with energy associated with chemical and physical
changes is called : '

(1) Chemical dynamics (2) Spéctroscopy
(3) Thermodynamics (4) Electrochemsstry

g fasm st fed wmafe ok odifdes shads & s=t @ e=fua &,
wewrdl &

(1) TEECE. FEis (2) wWegrd
(3) SRR (4) Fergaza

Process in which no heat exchanges between the system and surrounding

is called :
(1) TIsobaric ' " (2) Isochoric
(3) Adiabatic P (4) Isothermal

g8 W fEd a= g wRwiide ¥ wer e ffem W@ @
FEAI & 1 '

(1) GFEEE | (2)  FHITEAT

(3) JIH (4 duandre

orsap . R (Conta..



151 Which of the following is not correct for Joule-Thomson's experiment ?

()

oH :
—| ==C
[ 3P ]T p HyT

I 9E
(1) _a—V]T=0

[ 1 (a_H] )
3) "¢ aTP—H-JT

' aT
o (5,

S e WA e T A g - wEr e ¥ 7.

=—Cp Hyr

] E
M LoV |1 2) dP T
L (,a_li) - [?I] -0
(-’) | Cp aT p IT (4) aP H
152 For. exothermic reaction, AH is :
(1) . —Ve (@ +Ve
3 O 4y +1
Femadt afife ¥ fw oAl ¥
M —ve 2)  +Ve
3 0 4y +1
153 Calorific value of food materials can be known as :
(1) Heat of formation
(2) Heat of neutralisation
(3) Heat of combustion

(4) Heat absorbed by food

AT wEe % B RE W B ST ST E
(1) €W Fe

(2) SEREAEHTT Sl

() T FHe

(4) WM o sEeiE e

OP25_A] 43

(W 1Coned.-



154 Entropy of Universe 15 ©-
(1) Decreasing always | (2) Increasing always
(3) First decreases then increases’ (4) First increases then decreases
FEAUS GBI qUEW B ¥ | _
(1) =AW &9 (2) BHA ST |
(3) TEQ & RRY = @) ue Ol fET &

185 The working of refrigerator 1s based upon which of the following laws
of thermodynamics ? '

(1) Zeroth (2) First

(3) Second . (4) Third

TRTET & &/ SR % &y | 93 onaia & 7
(1) o= @ W

(3) fdm @

156 The entropy of all pure crystalline solids may be- taken at absolute zero

temperature :
(1)  Unity - (2) Infinite
G) Zero - 4) =AH
T O 9N W g feed ot @t gl P st @ e R
(1) s @ =
G) = @ -H

157 To get 1 litre of 10% solution of glucose by weight, how much glucoée
is required ? '

(1) 10 gm ' (2) 40 gm

(3) 100 gm (4) 80 gm

WMWW 10% T 1%3%@?%%.%@%%1@?#
HEFIBAT B0 7 |

(1) 10 71m , (2) 40 W

(3) 100 7w (4) 80 WW

OF25_Al - - IR fConts..



158 Osmotic pressure (r) is influenced by the concentration (C) of sugar
solution at. constant temperature as follows :
| _
() e - @) m=C

(3) 11:=C.. | {4y m=K/C

Reg 99 X W@ T () ST R @1 TR (C) W R TR
¥ yaifra @ ?

(_1)-““_% | (2) m=C
3y =m=C (4) m=K/C

159 Lowering of vdpour pressure of a solution.is related with -
(1) Boyle-vaﬁ't Hoft law - {2) Gay _Lﬁssac law
(3) Henry's law (4) | Raoult.'s law
e & a9 Z@ @ gew Frd ¥ ogetud ¥
(1) afow-aweers frm @ Y Frert
() T w1 Frm (4) EEE m form

160, Freezing point of a solvent will be changed on addition of solute as follows :
(i) Increases _ . (2) Remains constant.
(3) Decreases @) Randomly
wﬁmumw%qm%ﬁa%ﬁaﬁwﬁmmw%
(1) g & @ fmTwmE
Gy wmEmE (4>-m_ma

oPms Al B [NIHILRR - (Contd...



161 The relation between degree of dissociation ¢ and i and n is :

([—n)l (1—1)n
() i—1 ' (2.) n-1
1—1 . n—1
6 15 @ o

I-nj)i : 1-
o U o Lk
1-1 n—1
) n-1 “) 1—-1

162 If aA+bB= cC+dD is a general reaction, equilibrium constant is

expressed as :

_[A][B] _[AI'BE
(M Ke= [C][D] (2) KC [C]C [D]d
NG _[cF[of
@ [4] [B] I N

[ LN L
O " el) D "7 [cFof
R ] 1] _erpr
@ 5] 18] RN

OF25 Al e (MR E - tContd..



163 The relation between Ky and K, for a general chemical reaction at

equilibrium is -

D K, =KC(RT)H_1 | @ K, =K. (RT)"

@) Kp=K RT)™ @) K, =K,(RT)""

K, g K, & Y &% 9 9@ afilea & g amardaen 93
for B -

(1) Kp=KRT™' 2) K,=K(RT)"

(3} Kp=K; (RT)AH 4) K=K, (RT)AH

164 For reaction C(s)+ Coz(g) =2C0(g) it pressure is increased, the reaction :

(1) remains at equilibrium

(2) moves in the forward direction
(3) moves in the reverse direction
(4) 1s not affected

C(s)+ COyp) = 2CO(g) afirfipan % forg afk ar worn sy @t arfirfpa -
(1) ¥ W &N

(2) om famw § =W

(3) warw fem & =¥

(4) o @

165 The order of Hj+Cl, &= 2HCI reaction is :

(1) Three (2) Two
(3) One - (4) Zero

H, +Cl, =—=2HCl «fafFa @ & ¥ :
(1) = @ @
3) & (4) g

OF25 Al 47 A _lCd““‘-"



166 If half life of a first order chemical reaction is 10 sec, its velocity constant

may be :
(1) 2.303 sec”! (2) 0.693 sec”!
(3) 0.0693 sec™! (4) 0.2303 sec”!

aft ww W Wi wEnbe sl B e o 10 ¥Evs ¥ ol sE
v Rade &M -

(1) 2.303 . @) 0.693 ¥

(3) 0.0693 g1 (4) 02303 9.7

167 The velocity constant for saponification of methyl acetate may be calculated
using following formula :

2.303 a
— K= log
(1 K=x/t | @) KR=——log——r
1, C : X
K =-In—2 K = .
@) t G ) at (a—x)

R wdite ¥ dE B R 4 Rexis Famed vy Bee g e

2.303 a
— it K = log
(1) K=x/t @) . Oca_x
a 1. C : X
- K=-In—2 K oot
G) o C, ' - at (a—~x)

168 According to collision theory of kinetics 'Z' is :

(1) Collision number (2) Collision diameter
(3) Probability: factor _ {4) Frequency factof
s ¥ R RiEm % a7 ¥

(1) <FbT & (2) <TEHT arfm

(3) Wit wew ) smgfa oew

ops ) | Coe M (Come-.



169 For nA — P, if concentration of A increased by twice, the rate of reaction
increased by 4 times, order of reaction is

G 2 2

{3) 3 _ {4 0

nA P arfRem ¥ A A @ W T @ o 3 @ W 4 TN W
A €. ofulem o e 8o o

(1 @ 2

(3) 3 | 4) 0

170 1 one mole of NaCl dissolved in one cubic meter of the solution, its molar
conductance is

{1y Greater than equivélent conductance
(23  Smaller than equivalent conductance
(3) Equal to equivalent conductance

(+) infimte

ﬁwwhaclﬁwmﬁmﬁwﬁﬁaﬁ*ﬁsﬂﬁtﬁmw
B

(1) gors wwEd § NS

(2) YediH TeHar § wH
(3) ould a@Ed & AT

(4) T

171 On dilution, the specific conductance and equivalent conductance of KCl
changes as follows respectively :

(1) Decreases, decreases (2) Increases, decreases

(3} Decreases, mcreases (4) Increases, increases

KCl ® fafsre amwear au1 Jedie 9@l agal oM W e wR 9
weT giafqa el o:

() 4, @ () diftrs, wu
(3) wm, oiferE @) o, afie

opsal . ¥ IR tContd...



172 The conductometric titration between strong acid and strong base can be
shown by following figure : o

[0 E‘J | | o) %l\/

G) El\/ @ El\f
V—> : V—>

mmqﬁmw%nwwa@maﬁﬁwﬁammﬁ_
BT hd & | | |

(1) Eg o EM

V—> vV —>

SN e

V—> V—

173 For a binary electrolyte, degree of tonisation o 1§ :

(1) X/C . '(2)_ JK/C
3) k?2/c? - 4 c?/k?

w%&mﬁmf&gﬁm%mwa&Wa%:

() K/C 2) JK/C
G) k?rc?, @ c?/x?

ops.al 0 [WERI TN 1Coned...



174 In Daniell cell if the E, =Ep+dE the reaction will be : -
1) Zn+Cu*? > Cu+zn?t
(2) Cu+Zn*? > Zn+Cu™
(3) Zn+ Cu? == Zn™? +Cu

(4) Reaction will stop

e 9@ § E,=Ep+dE # at sfulean srll
(1) Zn+Cu+2—)(‘..‘11+Zr12Jr
(2) Cu+Zn*? 5 Zn+Cu™

(5) Zn+ Cu?=—7Zn*"?+Cu

(4) orfafpar ww SO

175 The potential of standard hydrogen electrode is (when ay, =1} :

(1) -0.0591 (2)  Unity

(3) Zero : (4) Infinite

T FRIH SOEES B faMa g wehe (g, =1)
(1) ~0.0591. . | @

(3) (4y I

176 Which of the followihg is calomel electrode :
(1)  Ppt|Fe*, Fe? () Ag(s)| AgCl(s)|CI”

3) Hg(s);ng Cly(s){CI™ '(4) Pb (Hg)| Pb**

e & o Fama sdeE §
(1) Pt{Fe™, Fe*? @) Ag(s)l AgCl(s)I €T

(3) Hg(s)|Hg, Cly(s)|CI” (4) Pb(Hg)|Pb*?

oAl s I (Cona-



177 Concentration cell with transference is an example of :
(1) Electrode concentration cell
(2) - Amalgam concentration cell
(3) Gas concentration cell
(4) Electrolytic concentration cell :

et Wit wrean 3@ R weR % S| ¥

(1) IHEE F=a o
(2) STETH EEAT AW

S (3) 9 ®TEAT ¥
(4) IOEIWCH WA A

178 If the concentration of A' has been found out experlmentally as
1.0 x 1077 M at 298K, the value of K, will be :

1) 1 x 107 M 2 1x100M
(3) 1 x 10714 M2 @) 1 x 104 M2

293me§mﬁ+ﬁmu%10xlo—7ﬂ4m§n§?ﬁ
HM B |

() 1x107M | 2) 1x107M

() 1 x 10714 M2 @ 1><1__014 M2

179 How many phases are present in the following two mixtures respectively :

@) [KCI(s)+ NaCI(s)+Ca(NO3), (5)]

(i) Alloy [Cu+5n]
1 1,1 - @ 342
G3) 3+ (4) 2+2
g & frsolt F g Reed wrerend, suRem ¥
N6 [KCi(s)+Nacz(s)J}Ca(NO3)2(s)]

(i) fas =g [Cu+Sn)
(1) 1,1 @ 32
(3) 3+l | (4) 2+2

omsAL = o
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180 Degree of freedom for ice = water ——= vapour system at 0.0098°C
and 4.58 mm (Hg) pressure will be :

(1) 2 2 1
3) o o @ 3

—— W —= 9% §9 % [WT 0.0098°C @T AT 4,58 mm WX
¥ TN UT W B mife W "N B o

(I 2 2 1

3) 0 | @ 3

181 At .03 mm Hg pressure and 95.6°C temperature the following equilibrium
- will exist for sulphur system :

(1) SR:"—-——-'*SAJ . (2) SR‘ lSL‘ \SI/’

3y s R SA_._{ Sy 4 S R/ S L

0.03 mm WK & 81 95.6°C 919 9T Teh{ oA & jwd e 9/ @

) Spe—8,, = @) Sp——S8, —— 5

(3) SR S_M < SI (4) SR =SL

182 Which of the following will be non-variant for CO, system ?
(1) Vapour pressure curve - - (2) Sublirhation curve
(3) Fusion curve (4 Triple point
CO, dx % fag fmr & @ o ome ¥ 2
(1) @~ TF T (2) SEUGT dq%F
G) TV a% @ B fg N

OF23_Al - = ARG - (Coned...



183

The composition at Eutectic point of lead-silver system :
(1) 94.4% Pb and 5.6% Ag

(2) 5.6% Pb and 94.4% Ag

(3) 2.4% Ag and 97.6% Pb
(4) 97.6% Ag and 2.4% Pb

Fre-fywE @ ¥g T wife g IX dHeT B

(1) 94.4% Pb T 5.6% Ag

184

185

(2) 5.6% Pb 3R 94.4% Ag
(3) 2.4% Ag ¥X 97.6% Pb
(4) 97.6% Ag SR 2.4% Pb

Which of the following figures will be obtained for Aniline-Hexane system ?

(1) /\ | 2) ¥
o I @ /&

A N e T gt Sy ¥

m L o I
o [>T o | Lo

Which of the following properties is not for colloidal solution ?

(D) Electrophdrgsis (2) Tyndall effect

(3) <lmp particle size (4) Diffusion
P § @ e o Bloged e § e E ot ?

(1) | SEE HO - GEO 2y fevsw wwrg

(3) <lmp FPa & ®T (@) FEw

OP25.A1L | - (I (Coned...
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187

188

Which of the following is an example of colloidal solution in which liquid
is dispersed in solid medium ?

(1) Shaving cream (2) Smoke

(3) Miik (4) . Butter

fra ¥ ¥ Omr seew e e faaga ¥ v e oW mey f
foafa % ¢ | S _

(1) T @ (2) gem

G) 3@ (4) wFET

If the value of Gold number of gelatin is less than its effectiveness of
protection will :

(1) Decrease ' (2) Increase
(3) Remain constant _ ~ (4) Destroy
uﬁﬁ:ﬁr&:r%mvﬁiﬁwnmw%eﬁwaﬁvﬂwaﬁwwﬂ
(1) &9 @ sRm

| @¢) Rl (4) = B T

The efficiency of coagulation depends upon valency of cation as follows :

{1} Remains unaffected

(2) It decreases with the increases of valency
() It increases with the increase of valency

(4) Randomly changes |

W @ W @ e O P e @ P we ¥
(1) emmi’aa Tl §

(2) WA TET W FA T ®

(3) wHaSTHBaT TG waﬂ‘cﬁ %

(4) orfafmar ¥ ofiafda gk

OP25 AL 33 MR teontd..
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Select the compound which is not a poison for catalyst :

(1) FeO - @ Co
B) HS  (4) Arsenicals

g diftes B g o S & g Ry @ e w3 v

(1) FeO @) o

190

191

(3) H,S (4) ol

In reaction 27~ -}-.5'203‘2 =1, -1-25'04‘2 the promoter action can be seen

on adding :
(1)  Fe*2 ion _ (@) cux*? ion
(3) Fet? and Cut? .Bo.th : (4) No addition of any ion

2 +8,052 = 1, 280, tweem # P A ¥ wm fem w

M) Fe? e . 4 @ ' emd

3 P Cu+2 Al e (4) TR e @ Hﬁﬁrir I

Who developed the fong form of modern periodic -table ?

(1) Lothar Meyer (2) Niels Bohr

(3) Mandeleev | (4) Moseley

o o wioh @ A ww Pow & & Rt R P 7
() R ¥ (2) Tiew @Y.

(3) FvedE @) e

OP2S.Al oo 56 (IR tconed...



192 The carbonate ore of iron and sulphide ore -of copper - are respectively- :
(1) Limonite and Mala.chite
(2) Siderite and Chalcocite
(3) Haematite and Chalcocite
(4) Magnetite and Azurite | |
frm § @ o W B oREs TE A B GRS OOE HAM: ¥
(1) fofmme g dumEe
(2) RemEe 9 aenEEe
(3) Tiersz 9 AwhEEe

(4) TR T TIEE

193 Acetaldehyde and acetone can be distinguished by following test :

(1) Molisch ' . (2) - Bromoform

{3) Solubility in water (4) Tollen's

wiieene @ Wi @ e e @ e aT e ¥
(1) e | @ deE |
() W ¥ R @

194 Condition for the precipitation is :
(1) ITonic product = Ksp
(2) lomc product >Ksp' e e v
(3) Tonic product. < ‘Ksp- | |
(4) lonic product < K-."‘P
(1) o TEEE = K,
@ o Y S K,
() oRE TR < K,
(4) ST PHEAE < K,

OP25 Al o 7 B (Contd...



195 Solution of pH =08
(1) Neutra @ Addie
@) Basi (4)  Amphoteric
pH = 0 & foe@T & o |
) | o
@) (4) e

196 Natural gas contains :

(1) Methane (). n—Octaﬁe
(3) Heptane (4) Butane
Tighw g ¥ T

(1) fud= ' | (2) n-af

G) T|A . (4), =

197 The compositibn formula of Gypsum 1is :
1y CaSO, _ -(2) CaS(')4-2H2.O
G) *[Caso,), Hy0 4)  2CaSO,-H,0
W F TOT I T |
(1) CaSOy (2) - CaSO4-2H,0

3) [CaSO4], H20 (4) 2CaSO,-H,0

OREAL s (Come



198 Which of the following is not a constituent of RNA ?
(1) d-Ribose (2) Phosphate
(3) Adenine . .(4) Pyridine
RNA @1 oagdg fr & 4 781 § ¢
(1) d-TEa (2) Wi

Gy whfw '_ @ fride

199 Which is most abundant gas in the atmosphere ?
(1) Oxygen (@ Helium
(3) Nitrogen . (4) Hydrogen
arpvea ¥ waifuw T ¥ T 9R aE fa ¥ 7
(1)  smrdtsrT @) A

(3) TS (@) wEEeE

200 Radioactive iodine is being- used to diagnose the following disease .of :
(1) Bones (2? Kidneys
(3) Blood cancer | | (4) Thyroid
i‘%ﬂ‘raﬁﬁaamﬁé’mﬁﬁrff@raﬁ%@rﬂﬂaﬁwﬁﬁm% ?
L) eRed % @ =

(¢) = W | (4) orUEs

OF25 Al 0 IR - EConed...
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